Search region bin HH ZH WH (200,1) b (450,1) b (450,300)
0j, > 0Ob, p 39+06 29+05 26403 27+01 00+00
0j, >0b, pP 24403 21+02 1.8+02 054+002 00£00
0j, >0b, pi® 1.7+02 27+04 17+£02 015+0.01 0.01+0.00

1-3j, Ob, p%, MY, 47+08 27+04 29403  42+05 0.03+0.00

1-3j, Ob, pY, M3 47+05 26+03 21402 1.6+03 0.03+0.01
1-3j, Ob, p7°, MY, 90+15 51+09 31406 073+0.15 0.27£0.05
1-3j, Ob, p7°, M35 021+£0.04 010+0.02 0.10+0.01 034+0.09 0.04+0.01
1-3j, Ob, p3*, MY,  0.18+0.02 0.10+0.01 0.07+0.01 0.15+0.04 0.05=+0.01
1-3j, Ob, p1°, M35 0.66+0.14 035=+0.07 0.19+£0.04 0.14=+0.03 0.35+0.07
1-3j, 1b, pY, MY, 61+09 22+03 11+01 71410 0.12+0.02
1-3j, 1b, p§, M3 6.6+06 24+02 081+006 34403 0.20+0.02
1-3j, 1b, p7°, MY, 13.7+21 51+09 14+£02 22+03 17+02
1-3j, 1b, p7°, M35 023 +£0.03 0.09+0.01 0.08=+0.01 0.82+0.13 0.27 +0.04
1-3j, 1b, p1*, M},  036+0.04 0.13+0.01 0.07+£0.00 0.39=+0.06 0.59+0.08
1-3j, 1b, pi?°, M3 124+02 047 +£0.09 018=+0.03 037+£005 35+05
1-3j, >2b, p}, MY, 0.60 £0.09 021+004 008+0.01 1.9+02 043+0.05
1-3j, >2b, p}, M3  0.81+0.07 027+£0.02 0.07+£001 12+01 0.69 +0.07
1-3j, >2b, pp, MY, 20+04 067+£011 0094003 098+012 50+06
1-3j, >2b, pp°, M35 0.08+£0.01 0.03+0.01 0024001 038+0.04 13+0.1
1-3j, >2b, pi*, MY, 0.11+0.03 0.04+0.00 0.03+0.00 0284003 2202
1-3j, >2b, pi®, M3 044 +0.10 0.16£0.03 0.05+0.03 037=+£0.03 155+13
> 4j, 0b, p%, MY, 39406 31+05 66407 33+08 0.01+0.00
> 4j, Ob, p%, M3 42+05 34+04 56405 12402 0.03+0.01
> 4j, 0b, p?, MY, 75+12 69+12 80+14 056=+011 0.13+0.03
> 4j, 0b, p2, M3 0.14+£0.02 010+0.01 0.19+0.02 0.52+0.11 0.02=+0.00
> 4j, 0b, pi*, MY,  016+0.02 013+£0.02 0.19+0.02 025+0.05 0.02+0.00
> 4j, Ob, pi*, M3 0.81+£0.18 050+0.11 0514011 027+0.05 0.16+0.03
> 4j, 1b, p%, M2, 50+£08 23+03 25+03 51+09 0.08+0.01
> 4j, 1b, p%, M3 54+06 25+02 21402 23+02 0.15+0.02
> 4j, 1b, p?, MY, 114+18 55+09 35+£06 14+02 11+01
> 4j, 1b, p?, M3 027 +£0.03 014+0.02 018+0.02 12+02 0.11+0.01
> 4j, 1b, pi*, MY,  033+0.03 0.14+001 017+0.01 0.81+0.13 0.15+0.03
> 4j, 1b, pi®, M3 14+03 065+012 042+£0.09 076+0.12 15+02
>4j, >2b, p% MY, 042+006 018+0.03 016+0.03 1.4+01 0.18+0.02
>4j, >2b, p§, M3  0.65+0.07 026+0.03 0.13+0.02 0.86=+0.08 0.35+0.03
>4, >2b, p?, MY, 16+£03 067+011 024+007 071+008 24+03
>4j, >2b, pp°, M35 0.0840.02 0.03+0.00 0.03+001 0.73+0.07 0.44+0.04
>4, >2b, pi®, M), 014+0.03 0.05+0.02 0.03+0.00 0.53=+0.06 0.82=+0.09
> 4j, >2b, pi®, M3 051+0.11 020+0.06 0.11+0.03 057+0.05 6.4+0.6



